[(#:x£1082]3208% 4

SHOEE EFEMEGEERBIRI—UVJHERX (BEXE%)
320BFfO—R
Z U0 > =]

TR LoD B Ro—Yr TR &I
BRI 9H B A 8A
il 9H 198 FFIRBAE IR RS LS A ST
ERNTT 18

GEE1H)

EEH ZENRE
i,zﬂﬂiﬁﬁ AL A—24RE T ERUNEBEIEETHEE T &
B2 il 204, =LA =1 RIET &
S0k NEBARRETEETE
320BF[BO—X 140.000F9 (A&, FERMEOBEABRETT, )
Z 5 H 95EEfEla—X 100.000M (Rl&. FERMEDBENBETT,)
50BFfO—X 70.000/9 (A&, FERMEDOBEARETT, )
% = BABEZAR—LTOSTSIRA(FNESHHRERTITHE12-3)
s = - o
= 5 FNEHSEUAREE 24— (FESHEE 1 TH10E35S)
B 9:00 ~ 16:40 (Rl&. BT AICHRATINTLSBEIE. BRYET,)
B E B/1IR) sxpmagist 457 1M BB 81N sppagst 57 =1
ExEm | S08RM|eTE 12/190p) FRERELES. | le7E 10,78 BRRICEBLET,
wokr | SRART—TTy 8/1060) =2 RITIET i)
RUKT A—A Bk A BAsa E
) ﬁgg_au ~7 12/19(K) ﬁgg_au ~7 10/7(8)

) 320-95 50 -

B BRI | a2 |mmo—x B #

AHEET 45 B5RE ° 10/17CK) | 10/24(K) | 10/31(K) 11/7(K) 11/21(K)
(9B /) 11/28(K) 12/5(K) | 12/120K)  12/19(K)

ERKTT 50 HfHE 8/1(K) 8/8(K) @ 8/15(K) 8/22(K) 8/29(K)

a4 k(3 @ HIZ5085R o o

LIS TR (9B [M) 9/5(K) 9/12(K) = 9/19(K) 9/26(K)

o 10/3(K) | 10/4(%)
ERNI7EE] ¥1
() 10/7(8)

X1 TERMT7IOUEBNIOVTE, FTASEUELOEENBETY . GREHOVT M BERHE.)
X2 BT ORHISE RI—IVTAHEDEN HEETIRE., BELR—MREORBADELZYET , (S0BHI—RITEEREIHYVELA)
%3 &£F B ORI IRREBEAM THY . RERMIIRERMMNMROTES,




